PRACTICE PAPER

Time allowed: 45 minutes Maximum Marks: 200

General Instructions: Same as Practice Paper-1.

Select the most appropriate option.

6.

7.

Who played an important role of mediator between North and South Korea?

(a) Jawahar Lal Nehru (5 Nikita Khrushchev

{r) Nixon () All of these

“Tryst with Destiny’ speech is related to whom?

() Dr. Bhimrao Ambedkar (i) Dr. Rajendra Prasad
(¢) Jawahar Lal Nehru {efl) Sachidanand Singh

Who is the Chairman of the National Development Council?

{a) President (6 Prime Mimster (c) Finance Minister (d) Home Minister

For how many years are the non-permanent members of UN Security Council elected?

(a) One year (B Two years (¢) Three years (i) Four years

How does the goal of respect for sovereignty find resonance in the Directive Principles of State Policy?

(i) By the talk of ‘promotion of international peace and security® in article 51 of the Indian constitution
(i) By the right to freedom in article 19 of the Indian constitution

(iii) By the presidency in article 52 of the Indian constitution

(a}) (i) only (b (&) only () (f) and (i) only (d) (1) and (i) only
Choose the wrong statement about the nature of Soviet economic system.

{a) Soviet economy was dominated by the commumnist ideology

(b} State control over the means of production

(c) People had financial freedom

(d) Entire assets were owned and. controlled by the Soviet state

What was the outcome of the two-nation theory?

(i) India was partitioned into two nations-India and Pakistan.

(ii) India was declared a Hindu state.

(a) (i) only (b) (1) only (¢) Both (1) and (i) (d) None of these
Important objectives of Tashkent Agreement are:

(a) Both Indo-Pak will solve their conllicts peacefully and not forcefully.

(b) All soldiers from both countries will be removed till 25th February 1966.

(¢) They will not interfere in their internal issues.

(d) All of these
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11.
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13.

14,

15.

16.

17.

18,

19.

Statement 1 : The General Assembly consists of all the member countries of the United Nations
Statement 2 : The General Assembly elects the members of the rest of the organs of the United Nations.
(@) Both the Statements are correct

ity Both the Statements are incorrect

(r) Statement 1 is correct but the Statement 2 is incorrect

(d) Statement 2 is correct but the Statement 1 is incorrect

Study the picture given below and answer the question that follows:
{ £\
DN £

Which organisation does the above picture belong to?

{a) World Health Organization it} International Labour Organization

() International Atomic Energy Agency () International Monetary Fund

India opposes nuclear treaties:

(a) Comprehensive Nuclear Test Ban Treaty (CTBT)

(i) Non-Proliferation of Nuclear Weapons (NPT)

() India-Soviet Treaty

id) Both (a) and (b)

The formation of Linguistic States was approved by:

(@) The Principle of Diversity it} The Principle of Separatism

(r) The Principle of Communalism () All of these

Arrange the following in chronological order:

(i) Creation of Bangladesh (i) Second nuclear test by India
(iif) Control of Tibet by China (iv) Visit of Prime Minister of India to Myanmar
(a) (i) (i) (i7) (iv) (b) (i) (i) (i) (iv) () () (i) (i) (iv) (d) (i) (if) (i) (iv)
In which year had India signed ‘Kyoto Protocol’?

{a) In 2001 () In 2002 () In 2009 {d) In 1992
From which year the US hegemony began?

(@) In 1991 by In 1990 (€) In 1992 () None of these
In which year the organisation for European Economic Cooperation was established?

() 1945 by 1948 ir) 1958 (d) 1968
When was Babri Masjid demolished?
{a) 6th Dec, 1992 it) 11th Dec. 1992 (r) 13th Dec. 1992 () 20th Now. 1990
When was the Naxalite Andolan begun?
(a) 1964 iy 1969 (c) 1994 () 2008
When was Election Commission established in India?

(a) January 1949 (b} January 1950 (c) January 1951 (d) January 1952



20. What kind of organisation is ‘Planning Commission’?
(a) Unconstitutional (b)) Non-constitutional
(¢) Constitutional (ff) Hyper-Constitutional
21. Choose the odd one of the following slogans:
(a) Garibi Hatao — Indira Gandhi
(b) Jai Vigyan-]ai Jawan — Lal Bahadur Shastri
() One nation, One law and one flag — Bharatiya Jana Sangh
(el) Jai Jawan-]Jai Kisan — Lal Bahadur Shasiri
22. To which state are DMK and AIDMK Parties are related?
(a) Andhra Pradesh iby Bihar (r) Madhya Pradesh {d) Tamil Nadu
23. The idea of Global Security emerged in:
() 1990 by 1980 ie) 1991 {d) None of these
24. In which year Bangladesh came into existence?
(a) In 1976 (hy In 1971 (¢} In 1972 () In 1980
25. Identify the country:
The first country to liberalise its economy in the South Asian region.
(@) Sri Lanka («) Pakistan ir) India (o) Maldives
26. Match the following:
Column-1 Column-2
A, Indo-Pak war (1) 1972
B. Simla Agreement (i) 1985
C. SAARC [irst summit (111) 1987
D). Indian peace keeping force campaign in Sri Lanka | () 1965
(a) (Ad=(iiz), (B)=(iv), (Cl={ai), (D)=(1) () (A=), (B)=(i). (C)={ez), (D)—(iit)
(e) (A)=ii). (B)=(ii), (Ch={it), (D}=(iv) () (A)=(iti), (B)=(i). (Ch=(iz), (D)=(iv))
27. Choose the wrong statement about the Earth Summit:
{a) It was attended by 170 countries, thousands of NGOs and many MNCs,
(#) The summit was held under the aegis of the UN.
() For the first ime, global environmental issues were firmly consolidated at the political level.
(el All of these
28. Which among the following statements about hegemony is incorrect?
{a) The word implies the leadership or predominance of one state.
(b It was used 1o denote the predominance of Athens in the Ancient-Greece.
(¢} The country having hegemonic position will possess unchallenged military power.
{d) Hegemonic position is fixed. Once a hegemon, always a hegemon.
29. Military Alliance formed by Soviet Union was .
(a) Warsaw Pact by NATO ic) CENTO (e} All of these
30. Anti-Liquor movement was a self-styled movement of .
(a) Men i)y Women ic) Farmers (e} All of these
31. Shock Therapy is a phenomenon associated with .

(a) America by Soviet Russia ir) Iraq {el) China
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Statement 1 : UNICEF was established in 1946 by the United Nations General Assembly.

Statement 2 : It collects worldwide emergency fund for children and helps in their development work.
(@) Both the Statements are correct

(b) Both the Statements are incorrect

(¢) Statement | is correct but the Statement 2 is incorrect

(d) Statement 2 is correct but the Statement | is incorrect

In 1944, a group of industrialists, proposed for a planned economy in a joint proposal, which was called:
(a) Bombay Plan (b) India Plan (¢) Bharat Yojana (d) India Vision
Countries of ‘Capitalist bloc’ were called:

(a) First world (b) Second world (¢) Third world (d) None of these

Which among the following statements about a ‘Solo Party’ is false?

(a) One party dominance is rooted in the absence of strong alternative political parties.
(0) Due to the weakness of public opinion, one party remained in dominance.

(¢) One party’s dominance was existing since colonial period.

(d) None of these

On the basis of language, when was Punjab reorganised?

(a) 1960 (b) 1966 (c) 1972 (d) 1975

In 1967, Morarji Desai became

(a) President (b) Prime Minister (¢) Deputy Prime Minister (d) Vice-President
When was UPA formed?

(a) 1998 (b) 1999 (c) 2004 (d) 2009

After fifth General Elections, who became the Prime Minister of India?

(a) Indira Gandhi (h) Rajeev Gandhi (c) Atal Bihari Vajpayee (d) Chandrashekher

The impact of globalisation is:
(a) Even (b) Uneven () Conservative (d) None of these

Which among the following is not a Regional Political party?

(a) Akali Dal (b) Biju Janata Dal (¢) Trinamool Congress  (d) Telugu Desam Party
has take the place of welfare state due to golbalization.

(@) Non-interventionist state (b) Intervening state

(¢) Minimum Intervention State (d) None of these

In which year Sri Lanka got its Independence?

(a) 1948 (b) 1949 (¢) 1950 (d) 1952
Which among the following is the contribution of Jaya Prakash Narayan?
(a) Fight against corruption () Communitarian Socialism

(¢) Total Revolution (d) All of these
Match the following:

Column-1 Column-2
A, Establishment of European Union (1) 2020
B. Establishment of ASEAN. (i) 1978
C. Vision documents ol ASEAN (i) 1967
D. Open Door Policy (i) 1992
() (Ad=iiv), (B)=(ar), (Chy=iz), (D)=(it) () (A=), (B)=(rr), (C)=(it), (D=2}

() (A)=(i). (B)=(ii), (C)=(i). (D)=(iv) (d) (Ay=(iv), (B)=(i), (C)=(ii), (D)=iid)



. Under article 352 Emergency is declared, during:

. What percentage of the world’s wilderness area is covered by the Antarctica Continental region?

. Which was the Election of 2014?

Which among the following statements is wrong about ‘bangwagon’ strategy?
(@) It may be advisable to extract benefits by operating within the hegemonic system.

(#) Another strategy open to states is to ‘hide’ which implies staying as far removed from the dominant power
as possible.

(r) Stay away from the hegemonic power.

() To raise the economic growth by working with the hegemon.

() War, external invasion, internal civil war (#) Constututonal crisis

() Financial crisis () All of these

In which state ‘Mehar Aandolan’ took place?

(a) Bihar (#) Punjab (¢) Maharashtra {d) Madhya Pradesh

(a) 26 (b) 90 (c) 70 (d) None of these

(a) 14th (b) 15th () 16th (d) 17th
iil

ANSWERS
~ PRACTICEPAPER-4

1. @) 2.¢) 8.0 4.0 5. 6.0 1. ()
8. (d) 9.(c) 10.(c) 11.(d) 12.() 13.(@) 14. ()
15. (@) 16. () 17.(@) 18.() 19. () 20. () 21.(b)
22. (d) 23.(0) 24.(b) 25.() 26.() 27.0) 28.(d)
29. () 30.() 31.(b) 32.() 33.() 34.() 35.(0)
36. (b)) 37.() 38.() 39.(a) 40.(0) 41.() 42.(0)
43. (a) 44. () 45.(a) 46.(c) 47.(a) 48.(c) 49. (a)
50. (c)



